Math 45 Quiz #1
SOLUTIONS
1. (2) Consider the question: “Who is more likely have a curfew – male teenagers or female teenagers?”
To answer this question, we will use data for the two variables "curfew" and "gender". Which variable is the explanatory variable? 
The Explanatory Variable is “Gender,” and the Response Variable is “Curfew.”
Use this table to help answer questions #2 – 4.
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2.
(3) Write a sentence correctly using the following percent:
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70.6% of females surveyed have a curfew.
3.
(4) Again, consider the question: “Who is more likely have a curfew – male teenagers or female  teenagers?”
What fractions should be compared to answer this question?
(Your answer should be at least two fractions. No other answer is needed.)
31/48=65% (males) and 24/34=71% (females)
4.
(3) What percent of all people in the study have a curfew?

55/82=67% of all people in the study have a curfew.
5.
(2) Here is the definition of this variable “parental education level”:
Parental education is the education level of the most highly educated parent living in the household. Parents can either have no high school degree; a high school degree, but no college; or some college or more.
Is "parental education level" a categorical or quantitative variable? Explain briefly.
This is a categorical variable because it’s not quantifiable. The variables are yes/no choices amongst 4 distinct categories.
6.
(2) Here is the definition of “student standardized test score”:
Student standardized test score is defined by the score on the test. Scores below 200 are “basic”; scores between 200 and 400 are “proficient”; scores above 400 are “advanced”.
Is “student standardized test score” a categorical or quantitative variable? Explain briefly.
This is also a categorical variable that splits scores into 3 categorical ranges.
7.
(6) Consider the following contingency table with data about mother’s age and birth weight of her baby.

	
	Low birth weight
	

	
	no
	Yes
	Row total

	Age of mother
	teenage
	23
	12
	35

	
	adult
	107
	47
	154

	
	Column total
	130
	59
	189


Using at least one complete sentence and at least two percentages (show the fraction you used to find your percentage), answer the question:

“Does the age of a woman when she has a baby affect the birth weight of the baby?”

(12/35) 34% of teenage mothers had babies with low birth weight, while (47/154) 31% of adult moms had babies with low birth weight. It would appear from these data that teen mothers are only slightly more likely to have babies with low birth weight. 
8.
(2) We want to investigate whether high school students with a driver’s license get better grades. Which variable is the explanatory variable?

The explanatory variable is the driver’s license.
In questions #9 - #10, use the dot plot below. 
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9.
(3) What percent of the students with a license earned “A/B” grades?
(22/44) 50% of students with driver’s licenses earned A/B grades.
10.
(3) Of the students who earned “A/B” grades, what percent had a license?

(22/31) 71% of students with A/B grades had a license.
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Overall 31% of all the women gave birth to babies with low birth weight.
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2. Consider the following question and answer parts a-d below:  Are women more likely to give birth to babies with low birth weight if they smoke during pregnancy? 

    a) What is the Explanatory Variable?

    b) What percentages will you compare to answer the question posed?  Write the fractions, then write them as percentages.

    c) Write the percentages you are going to use to answer the question in complete sentences.

    d) Are women more likely to give birth to babies with low birth weight if they smoke during pregnancy?  Explain why in complete sentences.
   a: The explanatory variable is smoking
   b: 30/74=41%, and 29/115=25%
   c: 41% of smokers, and 25% of non-smokers had low birth weight babies.

   d: 41% of women who had babies with low birth weight were smokers, while 25% of the women who had babies with low birth weight were non-smokers. This suggests that there is a association between smoking and low birth weight.
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